*.94 CARLTON CRICKET CLUB 3rd XI Vs Stenhousemuir 2nd XI

f ESCA Division 4

PLAYED AT: Grange Loan

|STEEDMANM
I COMPAN

DATE: 2nd July, 2011

RESULT: Carlton won by 79 runs

INNINGS OF: Carlton BOWLING
Nol| Batsman [[ How out Fielder Il Bowler Rund| 6s || 4s It Bowler overs|[Mdns| Runs [[wkts|| Nb
1 |l Guest [[Bowled [[Angus 28 3 1 J]A. Williamson 10f 1 36 1|
2 ||k MacPherson [[caught [lA. williamson 5 2 [[Mackintosh 9 o 38 1|
3 [Is Rae [[caught [IMackintosh 1 3 [|Burgen 9 o] 52 0
4 |IF Allardice [[Run out It 74 s |4 flangus 10 of 26 2|l
5 [IR Burns [[Bowled [lAngus 8 1]l [ 5 Haleem 6 o] 27 1|
6 [[R MacPherson [[caught Haleem 8 1 6 [[Reed 6 0 41 ol
7 {IG Newman [[Run out 78l 2] 9 7l Il
8 [IL kasperek [[Not Out 1 8 |l It
9 [IF whatley [[onB 0
10 [p walker DNB off
11 |G Rittoo DNB oll

[[Extras (1b, 1lb, 15w, 2nb) 19|l

[lroTAL [[(7wickets, 50 Overs) 222
INNINGS OF: Stenhousemuir 2nd XI BOWLING
Nol| Batsman [[ How out || Fielder It Bowler Rund] 6s || 4s It Bowler Overs[[Mdns| Runs [[wkts|| Nb
1 [Is williamson [[caught  [[Newman [lwhatley 15}f 1 1 Jlwalker AN 2 19ff 1
2 |[B Arkley [Bowled || [lwalker 10}f 2 2 [lRae gl 3 16 0
3 |b Owens [[caught  [lRae [[Rittoo 46| 3 [[whatley 10 2 4 3
4 |lc Halcrow [[caught  [[Newman [lwhatley ol 4 [[R. MacPherson 5 0 31 2
5 |[D Halcrow [[caught Guest [[kasperek 32| 3 5 [Rittoo of 29 1
6 |[A Reed [[Bowled [lwhatley 18]f 3 6 [[Kasperek 1.2 0 3 3
7 |lA Mackintosh [[Bowled [[IMacPherson 5| 7] Il
8 |IB Angus [[Bowled [[IMacPherson ol 8|l It
9 [[Mm Bergen [[Not Out It ol
10 f[lw Haleem [[caught Allardice [[kasperek off
11 [|a williamson [[caught K. MacPherson [[kasperek ol

[lExtras [li2b, 2Ib, 8w, 5nb) 17|

[lroTAL [l(1owickets, 37.2 Overs) 143)|




